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import sys

sys.path.append("statlib™)

from univ import AIC_Histogram

AIC_Histogram(x, d=None, c=None, facecolor="red", edgecolor="black", hatch="///",

alpha=0.5, xlabel=None, title=None, verbose=True)
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X T—=F X7 L
d HIEREEE (577 4 L b i3 None)
c WA RS (77 4 )L b & None)
facecolor HEBRDEA N7 LDE)DELE (77 4V Fid "red")
edgecolor BRE (BXUO Ny Fof) (7740 MiE "black™)
hatch Ny F (F7ANVRE"/)
alpha TN 7F 23 (FT7 4L 1E10.5)
xlabel x il 7 v (77 4Lk TlEdlline 72> None)
title KD& A v (57 %)Lk Tlkfin 7\ None)
verbose WHBERANBO 7Y v Y TR TS
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"n" FERUTA 2

"breaks" R

"width" b e ik

"minAIC" /N AIC

"cl" RAINAIC DL ED, KT L6l

"r" BANAIC D EZ2D, HRTE L& SN RERE

"c2" BRANAIC D EZD, HTF Do NTPEREL
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x = [28.67, 46.29, 10.61, 33.85, 36.19, 20.63, 9.64, 15.26,
15.53, 73.62, 63.29, 32.77, 32.28, 11.90, 54.16, 4.73, 24.67,
17.66, 25.84, 22.89, 15.68, 5.48, 36.41, 20.33, 44.58, 57.23,
65.89, 57.91, 2.39, 9.15, 10.27, 3.04, 12.35, 32.78, 44.23,
31.14, 6.03, 27.90, 28.73, 42.09, 3.99, 9.74, 6.85, 0.16, 9.26,
7.72, 34.42, 32.77, 6.80, 10.45, 29.80, 5.89, 13.56, 50.55, 0.51,
®.19, 7.19, 5.94, 11.24, 32.32, 15.27, 29.64, 10.03, 2.01, 13.89,
20.83, 27.49, 14.46, 8.22, 27.81, 33.65, 38.57, 8.66, 1.40,
23.97, 15.11, 63.32, 7.76, 1.58, 48.66, 44.46, 0.02, 38.12,
18.51, 101.75, 34.16, 27.99, 5.22, 1.82, 8.22, 4.89, 97.50, 2.10,
26.19, 10.11, 8.39, 25.83, 1.05, 25.63, 18.35]

import sys

sys.path.append("statlib")

from univ import AIC_Histogram

ans = AIC_Histogram(x, d=0.01)
cl r c2 AIC

77 2 5 7 487.526106

59 2 5 2 488.714343

104 3 5 1 490.290357

71 2 6 5 490.659917

129 3 4 8 491.111071

cl=2, r=25 c2 =7, min. AIC = 487.53
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ans = AIC_Histogram(x, c=30)

cl r c2 AIC
294 4 6 2 580.787494
240 3 8 11 581.039729
295 4 8 2 581.314999
208 3 8 3 582.113959
327 4 8 10 582.379952
cl=4, r=6, c2=2, min. AIC = 580.79
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